Addal247

GET IT ON
Google Play

HSSC CET Group D Oct 22, 2023 Shift 1 Question Paper

1. a&wmﬁw@aﬁm&raﬁﬁsﬂm
m‘%m%lt&mmmﬂﬁﬁsnﬁ'ﬂ

T HEATT & 7
(1) webtsT @1 fermemuq
(2) WaTeT BT W
(3) WaBTST HT TR
(4) BT & FeATE
(5) SR T I ATed
2. fPrafafaa & 1 ot 11 & gafma &€ ¢
1 11
dra @& ™ TR 3T
A. b b o L FUONY I gamE =
B. ¥gam = —— I %%
C. @2 1. fred (M)
D. 8al — — —IV. @&

(1) A-III, B-I, C-1I, D-IV
(2) A-lII, B-1, C-1V, D-II
(3) A-IIL, B-II, C-1V, D-I
_4Y A1, B-1, C-IIL, D-IV

(5) ST 7é A1 |@Ed
3. w19 & TE gl @ w@-11 § @ TE 5E & |9y
gt &l
-1 wu-11
A. -ty . tww@
B. W&t II. sgfea
C. Iga 1. sESeiE
D. ars™ IV. smmges
uer fawew g -

(1) A-1V, B-1, C-III, D-II
(2) A-1V, B-1, C-II, D-III
(3) A-l, B-1V, C-III, D-II
(4) A-1V, B-III, C-1, D-II
(5) SO 7 & Awd

4. T H G HT 3R T A WhHAT FEATI & -
) g
(2) weg
(3) frorew
(4) g
(5) ST W & A

1.

Mirror changes the direction of light that falls
on it. This change of direction of light by a
mirror is called?

(1) Displacement of light

(2) Scattering of light

(3) Reflection of light

(4) ‘Reversion of light

(5) Not attempted

Match the following I and II :

I : 11
Name of the Organ of
Organism Respiration
A. Human being I. Trachea
B. Earthworm II. Lungs
C. Insects . 1. Gills
D. Fish IV. Skin

(1) A-II, B-I, C-II, D-IV

(2) A-IIL B-I, C-1V, D-II

(3) A-III, B-II, C-IV, D-I

(4) A-IL. B-I, C-III, D-IV
" (5) Not attempted

Match the items in column-I with those in

column-II :

Column-1 Column-II
A. Salivary gland 1. Bile juice
B. Stomach -7 IL Insulin

C. Liver — 2 1llI. Hydrochloric Acid
D. Pancreas IV, Amylase
Choose the correct option :
1) A-1V, B-], C-1I, D-II
(2) A-IV, B-1, C-II, D-III
(3) A-1, B-1V, C-III, D-II
4) A-lV, B-1II, C-I, D-II
(5) Not attempted

The process of loosening and turning of the
soil is called —

(1) sowing

(2) harvesting

(3) winnowing

(4) tilling

(5) Not attempted
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1 UROEHTOT F R 7
(1) 34 ® T 70°C AT 5. Pasteurisation of milk is :
g%Hs db HET 3 Ry T 30 (1) Heating of milk to about 70°C for about
F{H B HSTU] o Eﬁ‘iﬁ:{ ; 30 d d th 1y i it
HET) <37 3 dsecor? s and then slowly cooling 1
zu @ I 3y ) and storing. _
w/m TS0 T | ey IR-Y F=7 (2) Boiling of milk and then slowly cooling
g & TTHT 70° it and storing.
() 3‘0 o a% Wr-:r: Hm'qﬁ 9T FHT (3) Heating of milk to about 70°C for about
== I T v 30 seconds and then suddenly chilling it
g T BT and storing
(4) 39 B TIE AT fry ERJS S (4) Boiling of milk ‘and then suddenly
®C : = chilling it. :
(5) T T FAET ¢ (5) Not attempted
6. @A E A Erq‘faf STEEA % w7 S - | 6. Which of the following food items gives
Fa ket A LR U LS blue-black colour with iodine ?
) = ‘ (I)'St‘?mh
/(2) afr ward :?) ;\lmc-mls
3) Protein
(3) W :
( (4) Fat
fg ::T_( . (5) Not attempted
' 7. Typhoid is caused by =
7, aEeat (21gwge) fewd v b (1) Bactenia
(1) st 42) Virus
(2) ﬁmxg L (3) Protozoa
(3) st (4) Fungi
(4) waw® e (3) Not attempted
(5) Sx 7 ¥ wred o — )
i ondensation is the process of —
5. Prefifaq & @ wm-@ Fo R E (i) Evaporation of petrol
(1) Wre & s ‘ (2) (Si::ar[a:_lon of s?nd from water by
2 By T . antation
8 e Me:aﬂj ! & ofeadd (3) Conversion of water vapour into its liquid
oS HIR form s
/Eg St a:—g}m;ﬁ qfad (4) Conversion of wa;&i into its vapour
I Al ared (5) Not attempted 3
P ? ' 3 |
S ®wy W S & wmﬁ e ST E? | 9, Large scale storage o§ grains is done in :
(1) R g e 8 (i) Silos and granaries._
A w2 ¥ A A e . (2) Jute bags r~
(3) T 9 A i = iﬁ' < e q (3) Jute bags and metallic bins
@) S 5§ ‘ ' | (4) Metallic bins
(5) Not attempted
(5) St ¢ ¥ =red

~—~
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10.

37 A-IL, B-1, C-IV, D-III

11.

12.

13.

14.

15.

Fr=fofaa &y gafera &1

-1 -1l
G H A DIn|

A. giq I &
B. #&elr I. T
C. usi- 1. T
DMy, e

(1) A-IL, B-1II, C-1, D-IV
(2) A-IIL, B-IL, C-1V. D-I

(4) A-L. BV, C-IIL. D-II

(5) vax =& 1 9md

nﬁmaﬁaﬁqﬁmaﬁaﬁaﬁaﬁgﬁmﬁ
THT JEiNa w2

(1) =9

(2) g99

(3) ®H! HH

(4) arfres

(5) STT =& I 9=y

T & AR SHiE B
FTE?

(1)-50 &=y
(2) 30 @
(3) 40 9=
(4) 25 99

(5) IO & I GEy
] TF geeoia & &
(1) 1 91 &g &1
(2) TS & AWM & WS & 3q
(3) @S wHEdl B WUE FT 39 |
(4) AT @O BT oA T

(5) SaX & T 9Ed

Frafafed & @ siv-ar Gamdfes €7

(1) srchiee

(2) aergfE or<t

(3) wRumERE

(4) aifzay HEE

(5) JTX & <1 9eq

TR Prifeiaa & @ feads sifeamgs & 99
9T g9 @l wiear &7

(1) =t

(2) gty

(3) @i
(4) qran

(5) ST & T wEd

A wead g
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Match the following :

Column-I Column-II
Name of the Movement
Animal

A. Snake [. Swim

B. Fish II. Slither

C. Bird 1. Walk

D. Cow IV. Fly

(1) A-II, B-III, C-1, D-IV
(2) A-II, B-II, C-1V, D-I
(3) A-IL, B-I, C-1V, D-III
(4) A-L, B-1V, C-11I, D-1I
(5) Not attempted

Dark coloured objects absorb
than the light coloured objects
(1) less

(2) equal

(3) very much less

(4) more

(5) Not attempted

The minimum distance required by a normal
human eye to see the objects clearly -

1) 50 cm

(2) 30 cm

(3) 40 cm

4) 25 cm

(5) Not attempted

Pathogens are microbes which :
(b~ Cause diseases

(2) Spoil leather goods

(3) Spoil standing crops

(4) Spoil food

(5) Not attempted

Which of the following is an antibiotic?
(1)~Alcohol

(2) Sulphuric acid

(3) Erythromycin

(4) Sodium carbonate

(5) Not attempted

Anodising is a process of forming a thick
oxide layer of :

(1) Silver

(2) Aluminium

(3) Gold

(4) Copper

(5) Not attempted
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g H HTE@ST Tl & sy .
16 ;ﬁ 37 3 T 16. How many total number of canals are there
‘ under 'The Bhakra System' in Haryana?

(1) 472 T8
3 (1) 472 Canals
(2) 528 Canals
' (3) 452 Canals
(4) 521 (4) 521 Canals
_ (5) Not attempted

17. Where is IIIT, Haryana located?

(1) drra ; 1) S’ompat
@ iy
(3) Kurukshetra
() T (4) Hissar
“) mqﬁ i B (5) Not attempted
(5) ¢
18. Who amongst the following was the first

Chief Minister of Haryana?

(g, Freffad & @ & B@ON & v gensh 47
(1) Bansi Lal

(1) @it @
(2) wad <9I gt (.3; glmgl\;at [()]a_\'a;.Sh;:mm
o : (3) Rao Birender Sing
(3) T s (4) Banarsi Das Gupta
(4) =TTl @ (5) Not attempted
(5) u 7E T arEd
. . 19. Fatchabad, is home to two very important
19, FAEEE A A g WEAY T Eluw monuments. One is The Lat; which is the
e &, U W& P A R? other one?
(1) g g (1) Humayun Mosque
Q) wf &= (2) Dharamkshetra
3) 5 3) Bafmwah
@ \qu (4) Arjuna Sthal
e (5) Not attempted
(5) STt =& A1 @rEd

20. How many (approximately) Community
Development Blocks does Haryana State

Zo-mwnmﬁﬁmﬁ(am)mﬁﬂmw

s E? have?
(1) 90-110 (1) 90-110
) 110-130 (3) 110 -130
A 0%
4) 80-90 -
$) I @ e (5) Not atterppted
e g e fo @ / SPACE FOR ROUGH WORK PTO.
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21. ﬁmﬁrﬁgaasm‘rwfaanm
A. REmT ¥ 8 wommfe wem E
B. dugar sRamn ¥ wemate wam 3
s T
ST U () ¥ & @ gl 27
(1) B &aw
~(2) A 3R B 2t
B)Fa AT &E B
(4) A Faa
(S)Bﬁrﬂtﬁ%ﬂaﬁ%

22. w@mﬁa&ﬁmﬁiﬁaﬁﬁﬁs&%m@maﬁ
T 7
€] W
(2) FICC
A3) fEE
(@) Trar
’(5)"@1@'& T aEd

23. F&amww%w%?
/eljezﬁ‘ﬂm -
@aﬁw
C(3Y T
@) T
(S)rﬁ:r:ué‘r%mam%

24, s&qwnﬁnmqsﬁgmuﬁmﬁa‘aaéﬂﬁﬁ
T §7 -
)/Saqﬁ‘c«'r 2018
) 25W‘& 2017
,(3)/10mzf 2011
(4) 8 s, 2015
(5) were wéi e e

25. w%qa}ﬁwqmm%?
((’I)qré‘ma
(2) Hud
(3) s
4) frar
(5) STT A& I umEd
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Consider the following statements :

A. There are 8 Administrative Divisions in
Haryana

B. Panchkula is one of the Administrative
Divisions of Haryana.

Which of the above statements is/are correct?

(1) B only-

(2) BothiA and B

(3) Neither A nor B

(4) A only

(5) Not attempted

Charkhi badn does not share border with

which one of the following?

(1) Mahendragarh

(2) Jhajjar~

(3) Hisar

(4) Bhiwani

(5) Not attempted

Which isf[vlﬂle state flower of Haryana?
(1) Dahlia™

(2) Tulip' ™

(3) Lotus

(4) Marigold

(5) Not attempted

In which S(ear was the Pradhan Mantri Mudra
Yojana launched in Haryanav

() gth Aprll 2018

(2) 25th February, 2017

(3) 10th March, 2011

(4) 8th Alpril, 2015

(5) Not attempted

NG
Tomb of dbrahim Lodi is located at :

(1) Panipat

. (2) KaitHal'

(3) Jhajjar,
(4) Bhiwani
(5) Not attempted

- |
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| _ gded w=l & gar-11 5%
26. Sl ' wWE g e
-1 =11
A @EEH L ®Em

27

28.

29,

30,

B. sge Il Tsmig
C. wEta® P L1 B
D. Ul | IV, uriug
S fre g et ¥ A T ITCHT T N
¢y A-IV. B-I1L C-1. D-IIT ¢

L. B-ML C-1V, D-1

-I11. B-1. C-1I. D-1V
A-I. B-11. C-1II. D-1V

oY wEl 391 9Ed U

i e T (T TE o) ¥ Hew ¥ Pt

B it

A. IE TF HAF Gy giaw &9 B

B. 9 9T GXHR & & HAWH & TLEich

PrisomeiT ¥
Y g B Gy/d BT & T

e
[res

(1) ®aa B

(A aix B &l &
BG)TAdATTE B oy

(4) Faw A @

(5) TaX & ¥ =>med ?5’“:
gheamn & o TEHE aTe b ¥ 7

(1) 2,00,00,000 — 3,00,00,000
2) 3,00,00,000 — 3,20,00,000
(3) 3,20,00,000 — 3,50,00,000
(4y 1,50,00,000 — 2,00,00,000,

(5) wat & AT = >
(1) wrge [
(2) BT i
(3) w@Er e
(4) amEt
(5) wax = & ared
A 1 s o fcarm &, s 10
-7 )
(1) femm )
(2) wowrr ({
(37 "tz ;

26.

27.

28.

29.

30.
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Match List-I Tourist Centres with List-II their

location.

List-1 List-11
A. Sky Lark [. Hodal
B. Damdama [I. Gurgaon
C. Dabchick III. Uchana
D. Karna Lake IV. Panipat

Choose the correct answer from the options

given below :

(1) A-1V, B-II, C-I, D-III
(2) A-11, B-11I, C-1V, D-I
(3) A-III, B-I, C-II, D-IV
(4) A-1, B-I, C-III, D-IV
(5) Not attempted

Consider the following statements in respect
of the National Security Guards (N SG) :
A. It is one of the Central Armed Police
Forces. ot

It comes under the administrative control
of the Ministry of Defence, Government
of India.

Which of the above statements is/are correct?
(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only ,
(5) Not attempted ..

B.

What is the approximately population of
Haryana? put

(1) 2,00,00,000 — 3,00,00,000-

(2) 3,00,00,000 — 3,20,00,000

(3) 3,20,00,000 — 3,50,00,000

(4) 1,50,00,000 — 2,00,00,000

(5) Not attempted Loy

F 2l

Which is known as the "Cherrapunji of

Haryana"? o
(1) Kosli P
(2) Chhachhrauli '
(3) Rewari =
(4) Thanesar oy
(5) Not attempted

The ancient Fort of Madhogarh is located in
which district of Haryana? *--

(1) Hisar ¢

(2) Jhajjar oM

(3) Mahendragarh (=

(4) Sirsa ir

(5) Not attempted {~

P.T.O.
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31. 9&d T s (g o) & an # | 31. Consider the following statements about
it a:g:{r‘rl - ﬁ_ﬂﬂ %H%ﬂ‘l ) Gross State Domestic Product (GSDP) :
A. wfar &1 S wa 3 o frew % S g & A. SISh[;rP of Haryana is more than that of
¥ aiftre ¥ s :
B. wfamn & st ua & o swrds % 5 og B. Sﬁggkﬁglfjaryana is more than that of
q o 3 Which ' i
. , of the above statements is/are correct?
SE ¥ B Gy wud gl R (1) B only
(1) &aa@ B _ (2) Both A and B
(2 A 3R B 3=t (3) Neither A nor B
B)TFAMTAB (4) A only
(4) &aa % g (5) Not attempted
(5) STX =l
32. For recognizing the efforts towards
32, ataRer §XEO qur dad| @ o § v environment conservation and promotion,
oIl ¥ f6E & AW W eREnT "R ¥ Uw Government of Haryana has introduced the
R %? award in the name of :
%E (1) Shri Chaudhary Devi Lal
” (2) Shri Bhajan Lal
8 ?QT{%W (3) Pandit Jasraj
@) 4 25t e & (4) Shri Darshan Lal Jain
(5) T TE T ad (5) Not attempted
: 33. Consider the following statements :
33. Prefafad s w0 fEr fifmo g 'S
A Rl &f ! & ay A. g;ﬁ;ﬁ; the official language of
B. 9 2010  dumell @ ef@mn & e B. Punjabi has been accorded the status of
B'Q'ﬂ;m g?ﬁﬁmﬁg . an official language of Haryana in the
Ex qi/ fe 1 year 2010.
(1) &aw B Which of the above statements is/are correct?
(2) A 3t B M (1) B only
TdMAMIAB (2) Both A and B
mm A (3) Neither A nor B
4 3T (4) A only
) wuT T o (5) Not attempted
o % ﬁ%ﬁ{t 17 I 34. Where is former Indian Test Cricketer
(1) : Virender Sehwag's Cricket Academy located?
5 el (1) Panchkula
8 ST (2) Jhajjar
Jei™ (3) Gurugram
(#) w{ramEm (4) Faridabad
(5) = & T AR (5) Not attempted
2 =i %?ﬁ o faam o T STt 35. Haryana does not surround Delhi on
( ‘q’fém which side?
(2; yd (1) South
(2) East
8; REEL! (3) West
ERL (4) North
(5) wot TE & aEd (5) Not attempted
IKSHR /X3 / Page 8 T @ & fT 24T / SPACE FOR ROUGH WORK P.T.O.
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,ﬁqﬁfﬁaﬁmﬁfﬂﬁma&m.
A. w3 Ui g srgeer ¥
p. wiwEE ¥ g gawy R ¥
gufa ¥ @ BT WA BT wh ¥

(2f A T B &
G)AdAAATTAB

3s.aaaﬁa1asﬁﬁem%?

39.@@@@@%92[?36%&@?{%#@@%?

36.

37.

38.

39.

40.
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Which of the following is NOT a part of the
traditional attire for men in Haryana?

(1) Kamri

(2) Dohar

(3) Sopali

(4) Safa

(5) Not attempted

Consider the following statements :
A. There are five Police Commissionerates

in Haryana.
B. Faridabad has a Police Commissionerate
located there.
Which of the above statements is/are correct?
(1) B only
(2) Both A and B
(3) Neither A nor B

(4) A only

(5) Not attempted

Where is Brahma Sarovar located?
(1) Fatehabad :
(2) Kurukshetra

(3) Hissar

(4) Sirsa

(5) Not attempted

Fomous sportsperson Yogeshwar Dutt is
associated with which sport? »
(1) Shooting

(2) Wrestling

(3) Javeline Throw

(4) Boxing

(5) Not attempted

In the dance form 'Loor', the word Loor
means?

(1) Ornament

(2) Music

(3) Crop

4) Girl

(5) Not attempted

5w & faru &I / SPACE FOR ROUGH WORK
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mma@mﬁA B, C &R D @1 afrgq
49s%|H@TBaﬁTDWWW%\Tﬂ‘?

s

(1) 2450 e
@) 2352-
(3) 2550
LU
(4) 2499 <5
r: [
(5) T & éqrnna%r
a.-J

?SOOOﬁrﬁTS%aﬁmwﬁwaﬁﬂ
W foa oot & % 9261 & SO, SEhp @ e

M i era 2
(1) 3 J
O
2 i
4= e
2) 3 t
free

3) s

(o)
(4) 3 o

€3%

(5) ST 7 T Ay

free
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41. The single discount equivalent to ty,

42,

43.

successive discounts of 20% and 10% is -
(1) 25%
(2) 28%
3) 27%
4 30%
(5) Not attempte

The average of four consecutive numbers A,

B, C and D 1s 49.5. What i

is the product of
B and D?

o s S
PR

(1) 2450
(2) 2352
(3) 2550
4) 2499
(5) Not attémpted

Hy
In how many years will a sum of ¥ 8000

at 5% per dnnum compound interest,

compounded annually becomes ¥ 92612

3 o

2 ﬁ,_,,;

2
4= I
@ %3
@s F
&
1 o
@33 .

o

(5) Not attémpted
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44, 5-37TT I BIEA "Em, S 12, 15 s 18

45.

46.
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frafora &, &1

(1) 10,015

(2) 10,020

(3) 10,080

(4) 10,010

(5) T TE A A

22 x33 x5, 23><3-2><§2>§7 SR

24><34x5><72x11 &%l HCF %
(1) 22x3%x5x7x11

@) 24x3%x5°

3) 24 %34 x5 x7x11

4 22 %32 x5
(5) ST W& AT Awd

2 9.30 Wiy Reciorm @ T ® R = wER
A A 8:7 ¥ orga A firwar T A B
1 T T 10 Wiy e &, & gEL I S T
&1 g Wiy e @@ ¥ 7

(1) ¥ 10.60

) 7 10.80

3) T 11.00

-7 10.30

(5) wax & A A

44.

45.

46.

GET IT ON
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The smallest 5-digit number which is exactly
divisible by 12, 15 and 18 is :

(1) 10,015
(2) 10,020
(3) 10,080
(4) 10,010
(5) Not attempted

2
The HCF of 22x33x5°, 22 x3%x5%x7

and 24x34><5><72><11 is
(1) 22x3%x5x7x11

@) 2% x3%x5°

(3) 24 x3*x5°x7x11

@) 22x3%x5

(5) Not attempted

Wheat at ¥ 9.30 per kg is mixed with another
quality of wheat in the ratio 8:7. If the
mixture so formed be worth ¥ 10 per kg,
what is the rate per kg of the second quality
of wheat?

(1) 2 10.60

(2) T 10.80

3) T 11.00 :
4) ¥10.30

(5) Not attempted

<% & & T WM / SPACE FOR ROUGH WORK

P.T.O.
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47. a: b % 9% Uz e A 9o e g | 47. The number that must be added to each term .

YU ¢ d T A, b of a : b 50 as to get the ratio c : d, is :
ac + bd ac +bd
) (M
C’:}'a ct+a
ad ¥ bc ad + bc
2 :
(2) ctd @ c+d
: adl—bc 3) ad —be
3) C'Td c—d
ab C‘d 4) ab-cd
Q ( a-b ?

) B?R‘T-ré’f 1 OEy (5) Not attempted

48. Y TN A 3:5 & agura F Ry frar ) | 48- A certain sum is divided in the ratio 3:5.

TR T AT ISE, q afr d If the greater part is ¥ 75, then the sum is :
1) 7 130+ (1) % 130
() T 150" b | (2) Z 150
A3 %240, | @) =240 oy
(4) % 120 | (4) %120
(5) ST TE & A" (5) Not attempted

49. af 0<x"<1 A A e 49. f0<x<1, thenthegreateStnumbermnong

e % the following is :
2 e
, 1 | 1 i
@) 7 @
1S .t ;f
) 2 | 3 2 g
4 x . @ x i
(5) wa/ T & Amed (5) Not attempted |
IKSHR / X3 / Page 12 T & & f @ / sPAcE FoR ROUGHWORK  ————

- P.T.O.
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50.

1.

A@W@a&frhwsﬁa‘fﬂfaﬂm%

LD
ﬁﬁmemgmloﬁﬁﬁm

gl ¥l A TuT B Y B @x sw o @)
e T H @ B w ¥7

4
) 83

3 o~
3) 10
1
@ 73
(5) TOT T T oA

T W aEE, A wEd, ﬁfﬁ%ﬁé’tﬂaﬁ@
65 felt &, % drg Twy § 2.6 10 fre e

| ¥ sEay Ty deT wiw e R

S2.

(1) 500
(2) 600
(3) 700
(4) 200 <
(5) Sux & M wEd

AW B ¥ s T 85,000 @e T 15,000 7
T AR ey fpar) s T & e, Fre d

GET IT ON
Google Play

2

, 1
50. A can complete = of a work in 5 days and

51.

52.

3

2 | .
B can complete 3 of the same work in

10 days. Ip how many dﬁys both A and B
together can complete the work?

4
(1) 8;

3
@ 9%
3) 10

! b
@) 7 5

(5) Not attempted f o

A motorist travelled between two towns,
which are 65 km apart, in- 2 hours 10 minutes.
The speed in meters per mlnute is:

(1) 500 |
(2) 600
(3) 700

(4) 200

(5) Not attempted ey

‘“.?.;

A and B started a busmess by investing
% 85,000 and T 15,000 respectlvely In what
ratio, out of the followmg, their profits will
be divided after one year?

o g A ST e e ? M3 w0
(1) 3:5 % : e
o @) 15:3 o
) 15:3 e <
ol 3) 17:3 o
L3173 = 3) ~
@) 34 o 4) 3:4 o
(5) T 7 31 =R (5) Not attempted
Sl oty i
KSHR / X3/ Page 13 < @ % R T / SPACE FOR ROUGH WORK ey
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2 % i, p 29
oo i il 220 R e g
53. x—l+.x+_l.+1;—-x2
A (1) 2
2 £~ + /k ¥ 2/,)/(2
I ()3
2y 3 ot ]
3) 4 " W (3) 4
@ 1 ﬁj" A @ 1
(5) SaT & & et - } (5) Not atterﬁpted
54 ISﬁgﬁraﬁ@aﬁ%maﬂﬁﬁ, 3 3 | 54. How many cubes of edge 3 cm can be cut
ol O foad o B GIT *a-eb‘& 7 B out of a solid wooden cube of edge 18 cm?
(1) 216 (1) 216
26 @) 6
(3) 218 3) 218
) SN (4) 36
(5) TAX & S A (5) Not attempted
55. afr A3 =1.732 @ 2 =1414 ¥, @ 55. If /3 =1.732 and /2 =1.414, then
sl B 1 :
\/§+\/,_2_ ) \[37+\/5 is equal to
(1) 0.308 (1) 0.308
jer 008 2) 0318
(3) 2.146 3375145
(4) 0.064 A
(4) 0.064
(5) FTT 7 A1 A
(5) Not attempted
IiSH 2% [ Peed 14 T% BT % Y W / SPACE FOR RouGH WORK p.10
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56. afs A+ B @ e %, 'A. B &1 9 3y

57.

(5) S W & s

38,

= REN
KSHR /X3 / Page 15

Abe 0GF pm
T3 Mo p \

A — B @1 o &, A, B # ufy By
A xBar aid %, 'A, B% frey &1
a}pr+R—S_é€iaI?f%:
(@Q,S%Wﬁi%f"'

) S,Pa%vc——?r%.;"
(3)P.S%H fuar & |

(Ms%w%
(5)m=r£r"?mmzﬁ

ﬁ%mﬂvﬁmﬁ%waﬁmﬁaﬁmqm
T ¥ WO & IW HUSE @ 9u w5t e
AT & Bl AR H3 97 vm apebyt o
T

TOARHU

1 23 4 5606
(1)3,6,1,4,5,2
2)3,6,1,5,2,4
3)2,4,51,3,6
44,2, 1,6,3,5

3 ey @1 gud @ifig, oA 9§ S
WO W ¥, R W @ 9, W WA
HEftE &

H o ISt ?
W@W &
(2) T
(3) <& e
OR
() S & 31 @

56.

GET IT ON
Google Play

If A+ B means 'A is brother of B'.
A — B means 'A is the husband of B'.
A x B means. 'A is the father of B'.
Then P x Q + R}—'fS means :

(1) Q is the husband of S

(2) S is the wife of P

(3) P is the fathér\c)f S

(4) Pis the fathér}fn—la\\‘ of S

(3) Not anernpte;fl

-

. A set of English letters is given below in a

jumbled order. Select the combination of
numbers so that the letters arranged
accordingly will form a meaningtul word.

T O ARHU

3456

19

T N o

-

—

-
-

‘Jn

. Oy

—

1J

-
¥

'JI

—
led
—
9

2
, 6
() 4,2,1,6,3,5
&

Not ancmpte

fag,

. Choose the option: which is related to the

third term in the-same way as the second -
term is related to the first :

Pen : Write 1 Spade : ?

(1) Dig é
) Cut a
(3) Guard g
(4) Crush ==

(5) Not attempted

ﬂﬂ

7 oA
JNf‘

b RJTuuug

—

YN

G @ H ﬁ-TQ’ ¥ / SPACE FOR ROUGH WORK

. P.T.O.
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59, fyud @& AT BT © 59. Choose‘ the odd one out :
(1) fedea . (1) Ql'nntal
2) fpardet . (2) K%lometer
«3) Fram (3) Kilogram
(4) = (4) Gram
(5) T T I (5) Not attempted

60, < et AT TEH S A Frepd 1 o 11 R o 60. Two statements are given,.followed by tWtO
. . conclusions I and II. Assuming the statements
¥ W ) H'RI T g €I E to be true even if they seem to be at variance
s el § B S A e A e, frofg from the commonly known facts, decide
5 o T/d fred o 1wt % e uw

which of the conclusions logically follow(s)
e ® W Frvaar e ¥ from the given statements :
F: W ARE R ¥ Statements : All rivers are mountains.
T e wda ¥

, ' All oceans are mountains.
i (D~ P wREl wemEr ¥ ‘Conclusions : (I) Some rivers are oceans.
(D) Pv gda =t ¥

: (I) Some mountains are
(1) %aw frewd 11 Preperar )

rivers.
(2) freed 1 afT 11 31 Rresery 3 (1) Only conclusion II follows.
(3) 7 @ Fr=pd 1 el 7 & 11 Freverar 21 (2) Both conclusion I and II follow.
M Faw ey 1 e B : (3) Neither conclusion I nor II follows.
(5) TTX & T =Y S (4) Only conclusion I follows.

(5) Not attempted
|§¢ 6l §%e-gue quleg & aw, o= & g9 & @@

' | 61. Early in the morning after Sunrise S
ra @ g TS a1l B AT ?ﬂr'c_ﬁ T < = was standing facing a pole. The sh;dolxl\lzn:)};‘
— AT & 'g:ﬁ'—zm' @ o faom & am? the pole fell exactly to Sunny's right. Which
| \ 5 W direction was he facing? ‘
/é/{ (3) TeR—afvaw oy et
] (4) =fm 7 (3) North-West
1 CJ (5) Toe & 3 Y ‘ (4) South

5 8 (5) Not attempted
2. 62. & W sjuen ¥ g wen @ e AP :

143, 149, 158, 170, 62.

Find the missing number j
. 203 In the 3 :
o — 143, 149, 158,170, 50 S
(2) 190 (1) 185 .
(3) 192 (2) 190
@) 182 (3) 192
(5) wat T I Ay PRy
! (5) Not attempted
. <
U
wiT IKSHR / X3/ Page 16 T %1 % Rt / SPACE FOR ROUGH WORK
o
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63. The fourth day of March in a year was

Thursday, what was the last day of the next

& T HEN w7 arfay R gy ar?

month in that year?

(1) gharT
52)/3 RraTe (1) Friday
(3) <R (2) Saturday
@) S (3) Sunday
(4) Thursday
(3) S T 2o S A (5) Not attempted

64. ©% Al X, Y, Z, M, N 3R O St &l T 5% | 64. Six persons X, Y, Z, M, N and O are sitting
FhH Th e 3 a% ¥ At STaya% 7 & 6 in a row facing towards North but not

G‘{ﬁ %9 A & 'Z, X' ofx 'N'j?_ﬁrir ﬁr azT gl necessarily in the same order. 'Z' is sitting
ﬁﬁﬁﬁ 9T 71'@ %‘I Y', 'N' ﬁ? B arér 2 between 'X' and N'. 'M' is not at the end. 'Y’
‘o' HTff ﬁ"_"ﬁ I TE TIM & qg‘hs?r aﬂq 9 is sitting immediate right to 'N'. 'O’ is not at
a4) Z s Y the right end. Who are the neighbours of M?
1) Zand Y
) O &t X Ba
| (2) O and X
(3) 0 ok N
(3) O and N
(4) X it N
(4) X and N
5) S e 1 =@mEd ~
(3) (5) Not attempted

65. aft e gz wrar & 'VIETNAM' BT B2 | s 1£in a code language 'VIETNAM' is coded
'WKFVOCN' %, af =&t g wrr 4 'BRITAIN as 'WKFVOCN!, then how will 'BRITAIN'

' feg wee fr@r < ? be written in the same code?

(1) CTIWCIP (1) CTIWCJP

(2) CTJIVBKO

6) CTJVBKO
() CTIuCIP (3) CTJUCIP
4) CTIWBKO (4) CTIWBKO
() voT 4 2w (5) Not attempted
% < @ % g @ / SPACE FOR ROUGH WORK P PTO.
VIeT wam  gRITAV® ARLITATN.
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& TR -
66. ‘E‘QHW’amhﬁwawm’fﬁﬁW 7. (& I ,

9= ¥ - (1) 7=

(1) T (2) =
2) e . (3) = =t
(3) FeH o (4)

(4) o = @Nmﬁﬁmﬁ

(5) e T W AR _
! 72.aﬁﬁ§ﬁ2@laﬁ?~w'3@§&'ﬂﬁ%?

67. ‘FTET WA UG BT SRi fame ¥ - (1) &
(2) BT Io N 5 () G
(3) = gou < @ge ;
(4) iEq o9 (5) wa & & zrra%
) TR T A A ‘ -
| £ 73.%rwﬁaaﬁ€rﬁ=r—majsrmwam@ﬁa
\ GS'EWT:‘WﬁWﬁﬁWWW - .
i ) vt
| SR ARRAAAY . Fale=
| (2) T T, & o T e | ) g E\'i'
(3) 3@ ¥ % wa A ¥ (4) gegaE -
(4) T fow ot ¥ WA @D (5) SaT T I A [

(5) ST & & A
74. ‘wHiETHE’ 9= & Q. gattue Suge

69. ‘TEEd &% HTA H Y FHGH e T — qrRIT ¥ — e
(1) &g Eie < 1) Wﬂ?ﬁﬁm@rw&m
() ot = oy TM _ ) T TR % gd & e
(3) o B HCA [ ' (3) smyfr <hew ¥ e
(4) e Brgat W S (4) W SR -
(5) Tax & & Aed (5) ST 7 T awEd
70, “Regy or % Gaifid STYE TaTeT g — | 7> ﬁmﬁaﬁwmmam%_
(1) g4 - (1) arentiers —~
(2) @&t - b (2) wifswa LN
(3) ifirere r (3) st .
(4) = . (4) Wit -
(5) were E (5) W T T
IKSHR / X3 / Page 18 Tk %14 &% fAT W / SPACE FOR ROUGH WORK
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1 SRR Sgrg
ﬁmﬁ%ﬁw‘eﬁ?mmﬁm'%
(1) &F -

@ =% .
DA
(LTS

7, f & 4 9 2023 ¥ WRE § W-20 o STEETRT

Ikl BET?
(1) DT NG
() TRy
(3) s )
@) gfor ST (7
(5) X TE <A ey
=l

78, <R M LT B b (STESACTD) F Ry
Frtew goAl €7 |
(1) 9@

@ vy
(3) & =
@) ur =
(5) ST & émzn)%%

79. ﬁw%f@aﬁ@fﬁo‘&maﬁ “HITd &l 959 O’
(1) wAtes
(2) T
DR
@) sdre
(5) vt 8 & e

0. Fraffag [aﬁ"fﬁ‘% ,

-1 o L2 -l
A T g .. 1. 1918

B o s ariger 1. 1919
% Rt ool @) eeqrer 1L 1922

e THEANT aricyety 1v. 1930
) Wy Rty ard wEe Q¢
@ADL BIL C1L DIV

L B-lv, ¢t D-111
G) A,y C:IL, D-IV

4
8 Al ?%TI%:S?V’ D-III

76.

7.

78.

79.

80.

GET IT ON
Google Play

Civil Rights Movement of 1950's put an end
to social discrimination. From where did the
movement begin?

(1) UK. -

(2) FRANCE

(3) GERMANY'

4) U.S.A.

(5) Not attempted

Which country has taken over the
Presidentship of G-20 from India in the year
20237 _
(1) Canada %’
(2) Bangladesh
(3) Brazil o
(4) South Africa
(5) Not attempted
,‘..,4!
How many functional units are there in
Indira Gandhi National Centre for the
Arts (IGNCA)?

(1) Seven

(2) Nine o)
(3) Three,
(4) Five pas

(5) Not attempted

Which of the following states is known as
'Sandalwood state of India'?

(1) Karnataka®

(2) Meghalaya

(3) Uttar Pradesh

(4) Chhattisgarh,

(5) Not attempted

Match the follgwing :

List-1 List-II
A. Rowlatt Satyagraha I. 1918
B. Civil disobedience I 1919

movement
C. Mill workers' strike 1L 1922
D. Non-cooperation IV. 1930
movement-'

Choose the cdr}éct answer from options
below : -

(1) A-1ll, B-IEC-I, D-1v

(2) A-II, B-IV]"C-1, D-III

(3) A-lll, B-Ly€-I1, D-IV

(4) A-Il, B-IL, C-1V, D-111

(5) Not attempted

e |
W OR ROUGH WORK
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GET IT ON
Google Play

_7'

A . ] scheme?
ared & 8 T % weAE o do g 8t troduce Mid day meal 5
i s 7 (1) Tamil Nadu
(1) S 2) Karnataka
@ (3) Andhra Pradesh
(3) o patll 4) Kerala
(4) & (5) Not attempted
(5) weR el & AT ¢ aft
' g2. Which is the second rl)argest continent atter
82, dsed H R ¥ TR & A @A SESIE Asia in terms of area:
TETET AT & 7 (1) Australia
(1) smefern (2) Africa
(2) s (3) Antarctica
(3) I (4) Europe
(4) ga (5) Not attempted
(5) SO 7 A1 A
83. The National School of Drama (NSD) was
83. T e e (gedt) e fE set up in which year?
SRl (1) 1975
(1) 1975 ) 1959
(2) 1959 1050
(3) 1950 (4) 1976
(4 1975 (5) Not attempted
(5) Fax & AT AR P
84. STEESTT AT @ 99 ¥ FRAT T e Rear 84. Non-cooperation mfovement was cal!ed .oﬁ"
3 ot % & Rog ar F o & A ? when peasants set fire to a police station in :
1) < < (1) Chauri Chaura
(2) S— (2) Champaran
(3) AETETEE (3) Ahmedabad
) (4) Kheda
(4) @t , (5) Not attempted
(5) ToT wE A
' ‘ .~ 85. Our atmosphere is divided i
85. sqm‘agqga e @ ferfora &7 layers? P lvided into how many
(1) ar (1) Five
(2) 3 (2) Seven
@) (3) Nine
(4) ot 4) Eight
(5) v T T e (5) Not attempted
IKSHR / X3 / Page 20 T B 3 {7 T / SPACE FOR RouGH WORK
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. i bz feamdt 4wy
86 w@ﬁﬁgﬁmﬁm%ﬂ.%ﬁm
(1) goieie
(2) 3is
(3) steferan
(4) IS
(5) STX & 2 urey

§7. Wﬁmﬁmﬁﬁﬁqaﬁv%mwﬁ%w
et 5 &7

(1) 1909
2) 1915
(3) 1916
(4) 1906
(5) ST & I =mEy

ss.mmmmmmmﬁm
2005 (TTTEM) H NRE wXer ¥ a8 ¥ Py
&t & ST B Iy & 27
(1) 75 &&=
(2) 100 f&=
(3) 90 &=
(4) 120 &=
(5) vt «1& I =TEd

8. 5w =fE T o 2019 % fTe wRa T @B TR
e ?
(1) ¥ it
Q) % TRE
() o1 dr.u.emx, T
(4) T fafaeere @™
(5) Tox =@ 21 =
o R G
(1) wrdig <rfesy
) Frgg
(3)%1%1%1“
% fufeay

86.

87.

88.

89.

90.

GET IT ON
Google Play

Famous cricketer Ben Stokgs plays
international cricket for which country?

(1) New Zealand
(2) England

(3) Australia

(4) West Indies
(5) Not attempted

In which year did the Congress

and the

Muslim league sign the Lucknow pact?

(1) 1909
(2) 1915

(3) 1916

(4) 1906

(5) Not attempted

In Mahatma Gandhi National Rural
Employment Guarantee Act 2005
(MGNREGA), how many days of

employment are guaranteed in
the Indian Government?

(1) 75 Days

(2) 100 Days

(3) 90 Days

(4) 120 Days

(5) Not attempted

a year by

Who won the 'Bharat Ratna Award' for year

2019?

(1) Pranab Mukherjee

(2) Dr. Bhupen Hazarika
(3) Prof. CN.R. Rao

(4) Ustad Bismillah Khan
(5) Not attempted

Which bird does not make its
(1) Indian robin

(2) Koel

(3) Tailor bird

(4) Weaver bird

(5) Not attempted

) vy
M Bl 3 forq @ / SPACE FOR ROUGH WORK
< B | | '

8
HR/xa’Page 21
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91. Change the following sentence to indirect | 96. Replace the underlined word/phrase with an

speech. alterpative to make a grammatlcally correct
He said. "Nambiar works hard." sentence. -
(1) He said that Nambiar was working hard. "The ladder will be collap_se if you push the

(2) He said that Nambiar had worked hard.

(3) He said that Nambiar had been working
hard. iy

(4) He said that Namblal worked hard.

wall with both the hands.
(1) will have collapsed
(2) will have been collapsing

(3) No change 1
(5) Not attempted - . @) will collapse . iI™
92. Choose the correctlyspelt word : (5) Not attempted
(1) incradulous : )
(2) incredulous 97. Choose the alternative which best expresses
(3) incredulus . the meaning of the underlined idiom.
(4) incradulus w8 Our hockey team scored the winning goal
(5) Not attempted & ; . at the eleventh hour
93. Pick out the part oi?the sentence which (1) at a crucial t1m§
“has an error. If there is-no error, your answer (2) before an hour
is 3. (3) at the last minute.
The whole block of ﬂats / (4) in the beginning
A (5) Not attempted
including two shops were /
: B : 98. Fill in the blank Wi'ﬂi ‘correct form of verb.
destroyed in the earthquake. Neither of the two men very strong.
C -] (1) was Ch
(1) B ) , (2) will be Ll
@ C N (3) shall be =
(3) No error [ (4) were !
(4) A el (5) Not attempted F

(5) .Not attempted [~

94. Choose the alternative which best expresses | 99- Arrange the following parts of the sentence

the given sentence in Passive Voice. to make a meaningfﬁ_l" sentence.
Must we cut this treé¢?” A. to understand ( -
(1) Must this tree wds cut? - B. to many people
(2) Must this tree be“cut? C. threatening and* eVen impossible
- (3) Must this tree is «Cut? D. grammar appeafs
(4) Must this tree will-cut? ' (1) BDCA P "
(5) Not attempted ; (2) DACB b
= (3) ADBC
95. Find out the synonym of the underlined word (4) CABD
in the following sentence. - » (5) Not attempted
Colours, like featurés) follow changes of J
emotions. ) 100. Find out the antonym’of 'democracy’'.
(1) movements @] (1) republic ™ ”\
(2) sentiments @i (2) delicacy £
(3) under-current [~ (3) monarchy P ’
(4) moments i (4) popular L
(5) Not attempted [~ - ‘ (5) Not attempted

IKSHR / X3 / Page 22 % &1 & fTT I / SPACE FOR ROUGH WORK 5T1.0.
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